
 
 

 

  
1. In a factory, machines A, B and C are all producing metal rods of the same length. Machine A produces 35% 
of the rods, machine B produces 25% and the rest are produced by machine C. Of their production of rods, 
machines A, B and C produce 3%, 6% and 5% defective rods respectively.  
a. Draw a tree diagram to represent this information.   (3) 
b. Find the probability that a randomly selected rod is produced by machine A and is defective.   (2) 
c. Find the probability that a randomly selected rod is defective.   (2) 
d. Give that a randomly selected rod is defective, find the probability that it was produced by machine C.   (3) 
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Topic: Tree Diagrams 
Chapter Reference: Statistics 2, Chapter 2 
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Solutions 

1a.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

 
 

Overall shape and labels M1  
All correct event 1 probabilities  M1 
All correct event 2 probabilities M1 

 
 1b.  

P = 35
100

× 3
100

 M1 

= 21
2000

 
(= 0.0105) 

M1  

 
 1c.  

P = 3
100

× 25
100

+ 6
100

× 35
100

+ 5
100

× 4
100

 M1 

P = 91
2000

 
(= 0.0455) 

M1  

 
 1d.  

P(C n D) = 40
100

× 5
100

= 200
10000

 = 1 1
50

 M1 

P(C I D) = 
1
50

0.0455
 M1 

= 40
91

 
(= 0.440) 

M1 

 


